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1. is the delivery of education at one location while the learning takes place at other locations.
a. Extended training (ET)  b. Faraway schooling (FS)  ¢. Distance learning (DL) d. Remote teaching (RT)

2. Web pages are accessed and viewed using a software program called a Web

a. enabler b. browser c. server d. scanner
3. Many Web pages use , which is the appearance of motion created by displaying a series of still images in sequence.
a. animation b.  graphics c. audio d.  virtual reality

4. A global positioning system (GPS)
A) involves using video and computer technology to conduct a meeting between participants at geographically separate locations
B) enables users to talk to other people over the [nternet
C) functions much like an answering machine, al[owiné callers to leave a voice message for the called party
D) consists of one or more earth-based receivers that accept and analyze signals sent by satellites in order to determine the

receiver’s position

5. A(n) is a program that copies itself into other programs and spreads through multiple computers.

a. Virus b. Mouse c. Script ¢ Macro
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(1). EFiHAE (2). MPEG 7 (3). CSS (Cascading Style Sheets)  (4). [ &[H
(5). FELLERSRBAILAEFE P EEEBE(Sampling) 52 B {t.(Quantization)
A S e B (Stack) A BRFIE - MPRAIRRAR B B - (10%)

42058 Merge Sort R » MAMTRE LB Internal B External FEFFEEE © (15%)
. SR Web 2.0 JEBSHEL &P ol iNERTAIARMA? FRDIREY RRERE - (10%)
(DEF5ERE T FIEER GCD() » HLER R AR SRR E EEE 8L nl Fe n2 FORA AN E(GCDYO 5
int GCD{(int n1, int n2){
int dividend, divisor, remainder;
ifinl <=0 n2 <= 0)
return -1; // FnlRn2/ MAZFHO + [E{FEER{E-1

dividend = (nl > n2) ? nl : n2; /4TRSS H S MRS

divisor =nl+n2- s W NEERE

do{

remainder =

woR e N

dividend = divisor;
divisor = remainder;
ywhile{divisor != 0);
return s EHEETH AR

}
(2) WLAFERecursive) FREFHHF_LF] GCDOF= - (10 73)
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6. —AHENEMENEBM(TRETARE) - EEHEMILE w28 (perfect number) - XH ZIEER A KB
EHFTE A WEREHRICTEE AER B 2R - B ZIERE AR BT #(friendly number) « 3% SumFact(n)FE,
BEHHE n B EBFICTEEE ) - 5558 SumPact(n)i =3t FIFHEIRETE /A 10000 BIFTH 5B AR S - (15 73)

HT S22
int SumFact(int n){//Z 15 NFn2 & nf9FE B
int sum=1; .
for(int fact=2; fact< ___ ;fact++)
)
sumt=fact;
return sum;
}
int main{void){
//<100008perfect number
for(int =2; n<10000; ot+){
iff )
cout << n << "is a perfect number.\n";
¥
}

/f <10000E4friendly number
for{int n=2; n<10000; n++){
int sum_n= ;
if{ && nl=sum_n){

cout << n<<" and " << sum_n << "are friendly number.\n";

}

;
return EXIT SUCCESS;

}
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